@ BroinDumps
Collection

Free Questions for 300-410 by braindumpscollection
Shared by Andrews on 24-05-2024

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1

Question Type: MultipleChoice

Exhibit.

yfhd or type unknown
yfhd or type unknown

Refer to the exhibit. A network is configured for EIGRP equal-cost load balancing, but the traffic destined to the servers is not load
balanced. Link metrics from router R2 to R3 and R4 are the same. Which delay value must be configured to resolve the issue?

Options:

A) 208 oon R3 EO/O
B) 120 on R4 E0/1
C) 120/on R3 EO/1
D) 2200 on R4 EO/1



Answer:

Question 2

Question Type: MultipleChoice

Exhibits:
age not d or type unknown
age not d or type unknown

Refer to the exhibit The administrator configured the network devices for end-to-end reachability, but the ASBRs are not propagating

routes to each other Which set of configurations resolves this issue?

age not d or type unknown




Options:

A) Option A
B) Option B
C) Option C
D) Option D

Answer:

A

Question 3

Question Type: MultipleChoice

Refer to the exhibit A CoPP policy is implemented to allow specific control traffic, but the traffic is not matching as expected and is
getting unexpected behavior of control traffic. Which action resolves the issue?

Options:

A) Use match-any instruction in class-map



B) Create a separate class map against each ACL.
C) Create a separate class map lor ICMP traffic.

D) Use default-class to match ICMP traffic

Answer:

A

Question 4

Question Type: MultipleChoice

Refer to the exhibit.

age not d or type unknown

Refer to the exhibit. An engineer notices a connectivity problem between routers R1 and R2. The frequency of this problem is high
during peak business hours. Which action resolves the issue?

Options:




A) Increase the MTU on the interfaces that connect R1 and R2.
B) Increase the available bandwidth between R1 and R2.
C) Decrease the EIGRP keepallve and hold down timers on R1 and R2.

D) Set static EIGRP neighborship between R1 and R2.

Answer:

B

Question 5

Question Type: MultipleChoice

Exhibit.

age not d or type unknown

A network is configured for EIGR equal-cost balancing, but the traffic destined to the servers is not load balance. .....resolve the issue?

Options:




A) 208 oon R3 EO0/O
B) 120 on R4 E0/1
C) 120/on R3 EO/1
D) 2200 on R4 EO0/1

Answer:

C

Question 6

Question Type: MultipleChoice

Refer to the exhibit.

age not d or type unknown

The administrator configured the network devices for end reachability, but the ASBRs are not propagating routes to each other. Which
set of configuration resolved this issue?

A)



jage not fjd or type unknown

B)

jage not fjd or type unknown

C)

I:age not fjd or type unknown

D)

age Nnot d or type unknown

Options:

A) Option A
B) Option B



C) Option C
D) Option D

Answer:

B

Question 7

Question Type: MultipleChoice

The summary route is not shown in the Router_B routing table after this below configuration on Router_A:

age No d or type unknown

Which Router_A configuration resolves the issue by advertising the summary route to Route_B?

A)

age not d or type unknown




B)

age not d or type unknown

C)

age not d or type unknown

age not 1guhd or type unknown

Options:

A) Option A
B) Option B
C) Option C
D) Option D

Answer:

D



Question 8

Question Type: MultipleChoice

Refer to the exhibit.

age not d or type unknown

R3 cannot authenticate via TACACS. Which configuration resolves the issue?

A)

age No d or type unknown

B)

age not d or type unknown




age not d or type unknown

D)

age not d or type unknown

Options:

A) Option A
B) Option B
C) Option C
D) Option D

Answer:
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